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Receipt No.: 2871568 Date:
21/05/2021 12:13:35
Amount: Rs.4500/- 
Applica�on No: 4979334

FORM TM- A
The Trade Marks Act, 1999

Application For Registration Of a Trademark
On application to register a trade mark for a specification of goods or services included in one

class [section 18(1)]

Temp. Ref. No: 5747839
NATURE OF
APPLICATION: A TRADE MARKS APPLICATION

APPLICATION FILED AS: Small Enterprise
FEE: 4500
APPLICANT
Applicant No. 1
Name DIALOGIX HEALTHCARESERVICESPRIVATE LIMITED

Address # 703, MANJALY EDDIFICE HRBRLAYOUT, 3RD CROSS, 1ST
BLOCK, KALYANNAGAR, BANGALORE

Country India
Jurisdiction CHENNAI

Address for Service #490/1, 3RD FLOOR, 19TH MAIN ROAD, F BLOCK,
SAHAKARNAGAR, BANGALORE-560092

Mobile No. 9441065952
Email Address ca.krishna24r@gmail.com
Nature of Applicant Body Incorporate
Legal Status company
APPLICANT'S AGENT (If Any):
Name VENKATA SUBBARAYUDU ADAPA

Address #490/1, 3RD FLOOR, 19TH MAIN ROAD, F BLOCK,
SAHAKARNAGAR, BANGALORE-560092

Nature of Agent Advocate
Registration No. 17448
MARK DETAILS
Category of Mark WORD
Trade Mark ENERGONHEALTH
Image Description
IF MARK IN A LANGUAGE OTHER THAN HINDI OR ENGLISH
Language English
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CONDITIONS OR LIMITATIONS TO USE THE TRADEMARK, IF ANY

CLASS OF GOODS OR SERVICE
Class: 44 Description: Medical Services
STATEMENT AS TO USE
OF MARK Proposed to be used

ANY OTHER IMPORTANT INFORMATION OR STATEMENT
44

VERIFICATION I hereby verify that above mentioned facts are true to best of my
knowledge and belief.

Date 21-05-2021 12:08 PM
Digitally Signed By 

ADAPA SUBBARAYUDU VENKATA

for  VENKATA SUBBARAYUDU ADAPA
Attachment Detail
Authorization Document (POA)
Other Documents
Document in respect of Small Enterprise

https://ipindiaonline.gov.in/trademarkefiling/ShowUpload/ShowOnlineAttachment.aspx?applNo=5747839&docNo=1
https://ipindiaonline.gov.in/trademarkefiling/ShowUpload/ShowOnlineAttachment.aspx?applNo=5747839&docNo=3
https://ipindiaonline.gov.in/trademarkefiling/ShowUpload/ShowOnlineAttachment.aspx?applNo=5747839&docNo=2

